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Can you think of a five-letter word 
that has the vowel A in it?

Write the number for 
five thousand ninety-two.

4 6
- 3 2

Do parallel lines intersect?

word root tion can mean state or act creation, invention

Write an antonym for "ugly."
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This puzzle has a large number in the middle, which is the sum of the four numbers that surround it.

Sample:
66

is the sum
8

ones

5

tens

1

one

7

ones

67
is the sum

2

ones

8

ones

7

ones

63
is the sum

8

ones

5

tens

3

ones

Example:
8 + 50 + 1 + 7 = 66

Example:
2 + 8 + 50 + 3 = 63

Fill in the missing numbers.  How?  The sum of the four surrounding numbers is in the center of each square.

Exactly one of the four numbers has to be one of these numbers: 3 tens, 5 tens,  or 1 ten.

The other three numbers have to all be DIFFERENT and must be from these: 1 one, 8 ones, 2 ones, 

3 ones,  or 7 ones.

613

ones

7

ones

1

one

5

tens

61
ones

one

1

one

7

ones

tens

41 7

ones

3

tens

621

one ones

ones

62 3

ones

1

one

one

ones

1

ten

2

ones
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10 x 9 =

10 x 6 =

7 x 8 =

11 x 5 =

8 x 8 =

9 x 6 =

3 x 9 =

3 x 7 =

12 x 11 =

11 x 11 =

2 x 6 =

11 6 9 5 19 8 10 6 60 26 21 20 131 9 7 120

6 21 11 12 11 132 22 6 12 60 6 12 11 6 8 8

3 3 15 56 59 11 8 64 4 13 4 7 59 12 8 11

20 11 10 132 29 10 1 9 8 18 63 8 8 64 55 2

131 12 7 20 13 29 7 91 14 10 11 56 19 15 12 6

27 3 90 27 12 18 8 19 17 121 91 27 13 6 1 20

4 11 12 63 122 12 1 8 21 6 19 13 54 28 9 65

12 7 10 9 90 9 17 13 65 61 5 8 4 14 3 28

11 20 3 9 60 3 7 10 12 13 11 56 11 3 11 7

54 121 8 21 12 7 15 22 12 10 64 11 11 0 27 3

4 10 13 3 23 21 14 7 15 15 1 13 11 23 3 9

8 12 14 3 9 12 19 28 19 14 10 8 9 121 2 27

25 7 11 120 55 19 61 11 19 28 9 11 5 55 6 21

6 6 65 21 10 20 2 90 7 9 6 54 5 132 12 122

x =

90

Write
operation.

Write = sign.

Circle.

9 x 10 =

7 x 12 =

6 x 9 =

9 x 7 =

7 x 6 =

3 x 4 =

3 x 11 =

8 x 8 =

8 x 7 =

11 x 2 =

11 x 11 =

23 7 85 7 16 5 7 13 3 91 16 9 3 19 18 11

11 25 1 2 6 9 9 7 11 3 83 7 23 7 18 16

18 12 90 56 11 2 13 12 121 4 4 17 6 11 2 22

19 12 63 11 16 9 23 5 18 6 14 12 9 9 2 85

55 18 4 16 121 83 14 42 19 11 11 7 7 19 8 23

6 1 14 23 22 54 8 1 23 22 3 12 63 4 11 12

13 8 28 3 8 7 1 10 63 17 14 13 12 10 6 17

6 11 9 53 13 8 7 8 64 7 8 56 8 12 16 1

7 22 6 17 64 3 11 9 54 33 12 12 7 6 7 53

3 12 9 10 90 11 11 33 19 22 9 84 56 15 22 84

17 7 6 10 9 14 9 33 42 11 11 121 2 7 6 42

15 4 9 9 1 3 6 91 7 11 8 8 64 8 9 1

8 24 54 11 53 19 8 84 9 18 27 8 8 4 21 12

x =

90
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Ms. Lee made some strawberry pies for the 
bake sale. She cut each pie into 6 pieces. 
There were 132 pieces of pie in all. How 
many pies did she make?

Jack had twenty safety pins. He gave his 
sister five. Write an expression. Find the value.

A number less than 20 has some factors.  Two of its factors are 2 and 7.  Can you name at 

least one number that fits this?

Pumpkins are on sale for $2.27 per pound.  Peter bought a 2-pound pumpkin.  Nathan 

bought a 5-pound pumpkin.  How much more did Nathan pay?

word root act can mean drive or do actor, action
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Write as a decimal.
Forty-seven thousandths

Write as a decimal.
Thirty-eight hundredths Write as a decimal.

 11 23
100

Find the sum of 12 and 96. Find the sum of 12, 10, and 
32.

221 + 85 = 

What is the greatest 
common factor of 4 and 14?

What is the greatest 
common factor of 2 and 6?

What is the least common 
multiple of 9 and 3?

Reduce 4
12

 to its lowest 

terms.

Reduce 21
28

 to its lowest 

terms.

Reduce 18
24

 to its lowest 

terms.

Write as a decimal.
Thirty-nine hundredths Write as a decimal.

 1
10

Write as a decimal.

 7
100
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What is the least common 
multiple of 6 and 2?

What is the least common 
multiple of 6 and 3?

What is the greatest 
common factor of 3 and 
15?

Find the sum of 13, 17, and 
42. 9 6 0 0,

- 6 2 8 7,
6 7 8 4 1 9 8,,

- 9 1 1 6 2,

Reduce 21
35

 to its lowest 

terms.

Reduce 4
10

 to its lowest 

terms.

Reduce 8
12

 to its lowest 

terms.

Write as a decimal.

 3
10

Write as a decimal.

 10 6
100

Write as a decimal.
Thirty-six thousandths

Find the difference 
between 598 and 43. 4 0

+ 9 2
8 9 6

+ 7 4 1
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Amanda went to the 
circus with her father 
and mother. The best 
part of the circus was 
the clown. He could 
juggle and make people 
laugh at the same time! 
The tickets cost $9.84 
each. How much did it 
cost for Amanda, her 
father, and her mother 
to go to the circus?

Jenna bought a book 
by Walter de la Mare. 
She liked to read his 
poem "Silver." The book 
cost $6.91. She gave the 
clerk at the bookstore a 
$20 bill. How much 
change should she get?

Their pet fish knew it 
wasn't right. He knew 
the Cat shouldn't do 
those things. The pet fish 
just knew there would 
be trouble. There was 
fish food all over the 
floor. They would have 
to buy more! Fish food 
costs $0.73. If Conrad 
gave the clerk $1, how 
much change would he 
get?

What are 100 tens equal to? Write the length in centimeters.

cm 1 2 3 4 5 6

8 16

4 7 6

- 7

1 9

Fill in the blanks with
these numbers:

8, 2, 8

8 4

- 9 2

4 8

Fill in the blanks with
these numbers:

0, 4, 3
6 1

+ 5 2

word root duct can mean lead deduction, induct, induction

If D = 6, then what does D + 
7 equal?
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Color 0.72. Wendy and Anna ran a race. 
Wendy came in twentieth 
place.  Anna was ten runners 
after Wendy.  Write the 
ordinal number for the place 
that Anna came in.

How many inches are in six 
feet?

6 x 1 = 1 2 x 1 1 =

1 x 9 = 1 1 x 7 =

already

alraey

elraedy

alraedy

What is the range of these 
numbers?

24, 21, 23, 24, 16, 23

Write the shaded part as a decimal.
1 0
1 4

+ 3 0

How many 8s are in 40? Fill in the missing fractions.

, 3
6 , , 5

6

4 8
- 2 2

What place value does the 7 
have in 46,278?

Write the number with 2 
thousands and 5 hundreds. 2 4

+ 3 3

Write two odd numbers that 
when added together equal 
the even number 24.

Make a pattern.
Start with 56.
Add 3; subtract 8.

, , , , ,

Do you use A.M. or P.M. to 
write 8:00 in the morning?
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Sudoku Sums of 6
Each row, column, and box must have the numbers 1 through 9.
Hint: Look for sudoku sums.  The sum of the two boxes inside of the 
dashed lines is 6.

Here is an example of a sudoku sum of 6: 1 5

1

7 8 9 2

4 6 3

5 9

2 7 9

2 3 6 4

7 2 4 3

4 2 1

3 1

chanj

chunge

change

changi

457 451 446 440
Write the numbers in order from least to greatest.

least

greatest

3 21

word root anim can mean spirit or life animal, animate

1 2
x 8

1 0
x 3

https://www.mathworksheets.com


Name:
Week of February 21
MathWorksheets.com

831,321
- 314,63

639,11
+ 025,07

466,48
- 583,61

283,99
+ 574,02

047,84
+ 724,41

513,451
- 935,37

350,74
- 893,11

319,74
+ 441,73

432,79
+ 975,45

102,94
- 631,51

347,111
- 294,04

075,51
+ 629,24

679,99
- 258,94

569,641
- 196,19

405,091
- 586,49

077,28
+ 299,81

663,28
+ 250,79

495,81
+ 680,27

318,451
- 690,87

873,11
+ 542,47

349,851
- 592,29

5
+ 6

+ 3

+ 6

+ 8

82
-

22
+ 8

+ 5

- 7

+ 8

63
-

72
-

52
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- 3 5 - 6 1 5 8 - 1 = 7 - 0 - 5 6
6 3 7

Use the pieces above to help you fill in the runaway math puzzle.

Write a fraction to represent what is shaded. Fill in the boxes so each line equals 15.

15

- 4

x 15

÷ 1

( - 10 ) +

Circle the relative adverb.
I remember the time when we 
ate fried alligator!

4 1
- 8 0
2 -
= 6 7 2 5
1 0 - 7 = - 0 1 0 - = 8 - 3
0 9 8 7 9 2

- 1 = 9 - 4 = - =
8 7 0 0

= - -
2

7
2 0 = 7 -

8 9 - -
8 - 4 = - 2 4 3

6 = =
9 - 3 = 8 - 2 9

8 - -
4 - 2 = 5 -

6
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+

37

29 8

+

65 7

+

78 3

+

55 4

+

69 6

+

81 5

+

66 6

+

65 7

68 - = 63 45 - = 43 - 9 = 86

- 3 = 64 - 5 = 30 46 - = 44

23 - = 17 - 6 = 90 41 - = 34

- 9 = 25 77 - = 69 - 8 = 7

+

72

68

+

66

4

+

31

24

+

97

6
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965
076+

547
357+

696
909+

474
326+

074
141+

83
5+
428

35
35+

81

628
95+

3

1
091+

68

92
86+

01

982
067+

591
675+

008
027+

581
655+

839
552+

2
609+
51

208
+

921

1
45+
431

09
90+

1

1
4+

269

321
468+

842
343+

276
342+

143
423+

543
448+

3
943+

25

31
18+
74

848
7+

21
157+

31

98
9+

181
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97
+

67 30

+

33 16

+

70 14

+

33 46

+

30 34

40
+

17

+

20 31

73
+

28

63
+

44

68
+

33

64
+

+

22
+

28 9

+

45
+

48
+

26 23

+

48
+

22
+

21 16

84
+

+

55
+

17 24

63
+

+

41
+

12 29

+

30
+

38
+

11 18

 ÷ 5 = 2

In the equation 20 x 473 = 
9,460, which number is the 
product?

What is the sum of 5 and 
47?
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Nathan is taking a 24-hour walk challenge.  He is trying to stay awake for 24 hours and 

plans to walk as far as he can.  Each hour he plans to sit and rest for only 7 minutes.  If he 

is able to do this, how long will he spend walking and not resting during the 24 hours?

_____ hours and _____ minutes

Circle the fraction that is smaller.

6
11   or  19

33

Now draw both fractions on a number line

to show that your answer is correct:

Is 43 a composite or a 
prime number? D,  G,  E,  H,  F,  I,  

,   J,  H,  K

15 +  + 26 = 60
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Write a line segment that has the given distance (in units).  If there is more than one answer 
then write only one line segment.

1 2 3 4 5 6 7 8 9 100

1

2

3

4

5

6

7

8

9

10

P Q

G

F

J

N

RS

EH

IA

D

M

O

K

C

L

B

1 unit EH 5 units 4 units

2 units 3 units

Draw a new line segment UW that is the same length as line segment IA.
You will need to plot the points U and W on the chart.
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ACROSS

4. the tens in 15-Across + the ones in 13-Down + the 
thousands in 12-Down

5. the tens in 10-Across + the thousands in 4-Across 
+ the ones in 11-Across

7. the tens in 8-Down + the ones in 10-Down + the 
thousands in 10-Across

9. the ones in 12-Down + the tens in 14-Across + the 
thousands in 2-Down

10. the ones in 12-Down + the tens in 16-Across + the 
thousands in 11-Across

11. the tens in 16-Across + the ones in 13-Down + the 
thousands in 12-Down

14. the thousands in 12-Down + the tens in 10-Across + 
the ones in 13-Down

15. three thousand,  forty-one
16. 8 + 18

DOWN

1. five million, seven hundred seventy-one thousand, 
 eight hundred sixty

2. the thousands in 15-Across + the tens in 11-Across 
+ the ones in 6-Down

3. the ones in 6-Down + the tens in 4-Across + the 
thousands in 10-Across

6. the ones in 10-Down + the tens in 13-Down + the 
thousands in 11-Across

7. the thousands in 4-Across + the ones in 8-Down + 
the tens in 10-Down

8. the tens in 13-Down + the thousands in 12-Down + 
the ones in 2-Down

10. the thousands in 11-Across + the ones in 13-Down + 
the tens in 10-Across

12. the tens in 13-Down + the thousands in 15-Across + 
the ones in 16-Across

13. 6 + 17

1 2 3 4

5

6 7

8 9

10

11 12

13 14

15

16
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Color Squares Puzzle

Don't forget to double check when you are done!

Color in the number of consecutive boxes in each row and column. Double check when you are done!

1K

1L

1M

2N

3O

3P

3Q

4R

10S

3T

1
A

1
B

2
C

7
D

10
E

6
F

1
G

1
H

1
I

1
J

CLUE A:  Color in 1 box.

CLUE B:  Color in 1 box.

CLUE C:  Color in 2 consecutive boxes.

CLUE D:  Color in 7 consecutive boxes.

CLUE E:  Color in all the boxes in this column.

CLUE F:  Color in 6 consecutive boxes.

CLUE G:  Color in 1 box.

CLUE H:  Color in 1 box.

CLUE I:  Color in 1 box.

CLUE J:  Color in 1 box.

CLUE K:  Color in 1 box.

CLUE L:  Color in 1 box.

CLUE M:  Color in 1 box.

CLUE N:  Color in 2 consecutive boxes.

CLUE O:  Color in 3 consecutive boxes.

CLUE P:  Color in 3 consecutive boxes.

CLUE Q:  Color in 3 consecutive boxes.

CLUE R:  Color in 4 consecutive boxes.

CLUE S:  All the boxes in this row are black.

CLUE T:  Color in 3 consecutive boxes.
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wire turtles tackle eager favorites boy
Each row, column, and box must have all the words from the word list.  Write in the missing 
words.

boy

turtles

tackle turtles boy

favorites turtles wire

eager wire

favorites tackle

Write 674 in expanded 
notation.

Ava had $1. She bought a 
sheet of poster paper. 
She drew pictures of the 
moon on it. The poster 
paper cost $0.52 for one 
sheet. How much did Ava 
have left after she paid 
for the paper?

Round 264,739 to the nearest 
ten-thousand.

What number is one hundred 
thousand more than 7,323?

hurt

hirt

hur

huurt

2 7
+ 7 1

Which is larger, 0.8 or 0.7?
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